

## Fekete-Szego Inequality for subclasses of Analytic Functions

<sup>1</sup>A.A. Yusuf and <sup>2</sup>T.P. Olaniyi

Department of Mathematics, Federal University of Agriculture, Abeokuta, Ogun State, Nigeria.

### Abstract

*In this paper, we obtained sharp upper bounds of the functional  $|a_3 - \mu a_2^2|$  for the subclasses of the classes of starlike and convex functions in the unit disc.*

### 1.0 Introduction

Let  $A$  denote the class of functions of the form

$$f(z) = z + \sum_{n=2}^{\infty} a_n z^n, n = 2, 3, \dots \quad (1)$$

which are analytic in the unit disc  $E = \{z : |z| < 1\}$ . Let  $S$  be class of functions of the form (1) which are analytic univalent in  $E$ . With the known estimate  $|a_2| \leq 2$  and  $|a_3| \leq 3$  proved by Bieberbach [1] in 1916 and Lowner [2] in 1923. It is natural to seek some relation between  $a_3$  and  $a_2^2$  for the class  $S$ . Fekete and Szego [3] used lowner's method to prove the following well known result for the class  $S$ .

Let  $f \in S$ . Then

$$|a_3 - \mu a_2^2| \leq \begin{cases} 3 - 4\mu; \text{ if } \mu \leq 0 \\ 1 + 2 \exp\left(\frac{-2\mu}{1-\mu}\right) \text{ if } 0 \leq \mu \leq 1 \\ 4\mu - 3 \text{ if } \mu \geq 1 \end{cases} \quad (2)$$

We denote by  $S^*$ , the class of univalent starlike functions  $f(z) = z + \sum_{n=2}^{\infty} a_n z^n \in A$  and satisfying the condition

$$\Re\left(\frac{zf'(z)}{f(z)}\right) > 0, z \in E \text{ and } K, \text{ the class of univalent convex functions } f(z) = z + \sum_{n=2}^{\infty} a_n z^n \in A \text{ and satisfying the}$$

condition  $\Re\left(\frac{(zf'(z))'}{f'(z)}\right) > 0, z \in E$

In this paper, we study subclasses of  $S^*(A, B)$  defined as

$$\frac{zf'(z)}{f(z)} \prec \frac{1 + Az}{1 + Bz}, \{-1 \leq B < A \leq 1\}, z \in E \quad (3)$$

and  $K(A, B)$  defined as

$$\frac{(zf'(z))'}{f'(z)} \prec \frac{1 + Az}{1 + Bz}, \{-1 \leq B < A \leq 1\}, z \in E \quad (4)$$

Corresponding author: A.A. Yusuf, E-mail:yusuf.abdulai@yahoo.com, Tel.: +2347034686870, 07033880937 (T.P.O)

.These subclasses were studied by Goel and Mehrok [4,5]. In particular  $S^*(1,-1) \equiv S^*$  the class of starlike functions and  $K(1,-1) \equiv K$ , the class of convex functions.

symbol  $\prec$  stands for subordination.

**Principle of Subordination [6]**

Let  $f(z)$  and  $g(z)$  be two functions analytic in E. Then  $f(z)$  is subordinate to  $g(z)$  in E, if there exist a function  $w(z)$  analytic in E satisfying the condition  $W(0) = 0$  and  $|w(z)| < 1$  such that  $f(z) = g(w(z)) : z \in E$

We denote the class of analytic bounded functions of the form

$$w(z) = \sum_{n=1}^{\infty} c_n z^n, w(0) = 0, |w(z)| < 1 \tag{5}$$

It is known that

$$|c_1| \leq 1, |c_2| \leq 1 - |c_1|^2 \tag{6}$$

**2.0 Preliminary Lemma**

For  $0 < c < 1$ , we write  $w(z) = \left(\frac{c+z}{1+c z}\right)$  so that

$$\frac{1+w(z)}{1-w(z)} = 1 + 2cz + 2z^2 + \dots$$

**3.0 Main Result**

**Theorem 3.1** let  $f \in S^*(A, B)$ , then

$$|a_3 - \mu a_2^2| \leq \begin{cases} \frac{(A-B)(A-2B)}{2} - (A-B)^2 \mu; \text{ if } \mu \leq \frac{(A-2B-1)}{2(A-B)} \\ \frac{(A-B)}{2}; \text{ if } \frac{(A-2B-1)}{2(A-B)} \leq \mu \leq \frac{(A-2B+1)}{2(A-B)} \\ (A-B)^2 \mu - \frac{(A-B)(A-2B)}{2}; \text{ if } \mu \geq \frac{(A-2B+1)}{2(A-B)} \end{cases}$$

and the result is sharp.

**Proof**

By definition of  $S^*(A, B)$ , we have

$$\frac{zf'(z)}{f(z)} = \frac{1 + Aw(z)}{1 + Bw(z)}; w(z) \in U \tag{7}$$

Expanding (7), we get

$$1 + 2a_2z + 3a_3z^2 + \dots = 1 + (a_2 + (A-B)c_1)z + ((a_3 + a_2(A-B)c_1) + (A-B)(c_2 - Bc_1^2))z^2 + \dots \tag{8}$$

by comparing with respect to the power of z, we have

$$2a_2 = a_2 + (A-B)c_1 \tag{9}$$

$$3a_3 = a_3 + a_2(A-B)c_1 + (A-B)(c_2 - Bc_1^2) \tag{10}$$

from (9) and (10),

$$a_2 = (A-B)c_1 \tag{11}$$

$$a_3 = \frac{(A-B)c_2}{2} + \frac{(A-B)(A-2B)c_1^2}{2} \tag{12}$$

from (11) and (12)

$$a_3 - \mu a_2^2 = \frac{(A-B)c_2}{2} + \left( \frac{(A-B)(A-2B)}{2} - \mu(A-B)^2 \right) c_1^2 \tag{13}$$

taking the absolute value of (13)

$$|a_3 - \mu a_2^2| \leq \frac{A-B}{2} |c_2| + \left| \frac{(A-B)(A-2B)}{2} - (A-B)^2 \mu \right| |c_1|^2 \tag{14}$$

using (6), we obtain

$$|a_3 - \mu a_2^2| \leq \frac{A-B}{2} (1 - |c_1|^2) + \left| \frac{(A-B)(A-2B)}{2} - (A-B)^2 \mu \right| |c_1|^2 \tag{15}$$

$$\frac{A-B}{2} + \left( \left| \frac{(A-B)(A-2B)}{2} - (A-B)^2 \mu \right| - \frac{A-B}{2} \right) |c_1|^2 \tag{16}$$

case I:  $\mu \leq \frac{(A-B)}{2(A-B)}$ , (16) can be written as

$$|a_3 - \mu a_2^2| \leq \frac{A-B}{2} + \left( \frac{(A-B)(A-2B)}{2} - (A-B)^2 \mu - \frac{A-B}{2} \right) |c_1|^2 \tag{17}$$

$$\frac{A-B}{2} + \left( \frac{(A-B)(A-2B-1)}{2} - (A-B)^2 \mu \right) |c_1|^2 \tag{18}$$

Subcase I(a):  $\mu \leq \frac{(A-2B-1)}{2(A-B)}$ . Using (6),(18) becomes

$$\begin{aligned} |a_3 - \mu a_2^2| &\leq \frac{A-B}{2} + \left( \frac{(A-B)(A-2B-1)}{2} - (A-B)^2 \mu \right) |c_1|^2 \\ &= \frac{A-B}{2} + \left( \frac{(A-B)(A-2B-1)}{2} - (A-B)^2 \mu \right) |c_1|^2 \end{aligned} \tag{19}$$

Subcase I(b):  $\mu \geq \frac{(A-2B-1)}{2(A-B)}$

$$|a_3 - \mu a_2^2| \leq \frac{A-B}{2} - \left( (A-B)^2 \mu - \frac{(A-B)(A-2B-1)}{2} \right) |c_1|^2 \leq \frac{A-B}{2} \tag{20}$$

Case II:  $\mu \geq \frac{(A-2B)}{2(A-B)}$ , preceding as in case I, we get

$$\begin{aligned} |a_3 - \mu a_2^2| &\leq \frac{A-B}{2} - \left( (A-B)^2 \mu - \frac{(A-B)(A-2B)}{2} - \frac{A-B}{2} \right) |c_1|^2 \\ &\leq \frac{A-B}{2} - \left( (A-B)^2 \mu - \frac{(A-B)(A-2B+1)}{2} \right) |c_1|^2 \end{aligned} \tag{21}$$

Subcase II(a):  $\mu \leq \frac{(A-2B+1)}{2(A-B)}$ , (21) take the form

$$|a_3 - \mu a_2^2| \leq \frac{A-B}{2} \tag{22}$$

combining subcase I(a) and subcase II(a), we obtain

$$|a_3 - \mu a_2^2| \leq \frac{A-B}{2}; \text{if } \frac{(A-2B-1)}{2(A-B)} \leq \mu \leq \frac{(A-2B+1)}{2(A-B)} \tag{23}$$

**Subcase II(b):**  $\mu \geq \frac{(A-2B+1)}{2(A-B)}$ . Preceding as in subcase I(a), we get

$$|a_3 - \mu a_2^2| \leq (A-B)^2 \mu - \frac{(A-B)(A-2B)}{2} \tag{24}$$

combining (19), (23) and (24), the theorem is proved

$$|a_3 - \mu a_2^2| \leq \begin{cases} \frac{(A-B)(A-2B)}{2} - (A-B)^2 \mu; \text{if } \mu \leq \frac{(A-2B-1)}{2(A-B)} \\ \frac{(A-B)}{2}; \text{if } \frac{(A-2B-1)}{2(A-B)} \leq \mu \leq \frac{(A-2B+1)}{2(A-B)} \\ (A-B)^2 \mu - \frac{(A-B)(A-2B)}{2}; \text{if } \mu \geq \frac{(A-2B+1)}{2(A-B)} \end{cases}$$

**Corollary 3.2** : put  $A = 1, B = -1$ , we get

$$|a_3 - \mu a_2^2| \leq \begin{cases} 3 - 4\mu; \text{if } \mu \leq \frac{1}{2} \\ 1; \text{if } \frac{1}{2} \leq \mu \leq 1 \\ 4\mu - 3; \text{if } \mu \geq 1 \end{cases}$$

**Theorem 3.3** let  $f \in k(A, B)$ , then

$$|a_3 - \mu a_2^2| \leq \begin{cases} \frac{(A-B)(A-2B)}{6} - \frac{(A-B)^2}{4} \mu; \text{if } \mu \leq \frac{2(A-2B-1)}{3(A-B)} \\ \frac{(A-B)}{6}; \text{if } \frac{2(A-2B-1)}{3(A-B)} \leq \mu \leq \frac{2(A-2B+1)}{3(A-B)} \\ \frac{(A-B)^2}{4} \mu - \frac{(A-B)(A-2B)}{6}; \text{if } \mu \geq \frac{2(A-2B+1)}{3(A-B)} \end{cases}$$

and the result is sharp

**Proof**

By definition of  $K(A, B)$ , we have

$$\frac{(zf'(z))'}{f'(z)} = \frac{1 + Aw(z)}{1 + Bw(z)}; w(z) \in U \tag{25}$$

Expanding the (25), we get

$$1 + 4a_2z + 9a_3z^2 + \dots = 1 + (2a_2 + (A-B)c_1)z + ((3a_3 + 2a_2(A-B)c_1) + (A-B)(c_2 - Bc_1^2))z^2 + \dots \tag{26}$$

by comparing with respect to the power of z, we have

$$2a_2 = a_2 + (A-B)c_1 \tag{27}$$

$$6a_3 = a_3 + a_2(A-B)c_1 + (A-B)(c_2 - Bc_1^2) \tag{28}$$

from (27) and (28) , we obtain

$$a_2 = \frac{(A - B)c_1}{2} \tag{29}$$

$$a_3 = \frac{(A - B)(A - 2B)c_1^2}{6} + \frac{(A - B)c_2}{6} \tag{30}$$

from (29) and (30)

$$a_3 - \mu a_2^2 = \left( \frac{(A - B)(A - 2B)c_1^2}{6} + \frac{(A - B)c_2}{6} \right) - \mu \left( \frac{(A - B)c_1}{2} \right)^2 \tag{31}$$

$$= \frac{(A - B)(A - 2B)c_1^2}{6} + \frac{(A - B)c_2}{6} - \mu \frac{(A - B)^2 c_1^2}{4} \tag{32}$$

$$\frac{(A - B)c_2}{6} + \left( \frac{(A - B)(A - 2B)}{6} - \mu \frac{(A - B)^2}{4} \right) c_1^2 \tag{33}$$

Taking the absolute value, (33) can be written as

$$|a_3 - \mu a_2^2| = \frac{(A - B)}{6} |c_2| + \left| \frac{(A - B)(A - 2B)}{6} - \mu \frac{(A - B)^2}{4} \right| c_1^2 \tag{34}$$

using (6), we obtain

$$|a_3 - \mu a_2^2| \leq \frac{(A - B)}{6} (1 - |c_1|^2) + \left| \frac{(A - B)(A - 2B)}{6} - \mu \frac{(A - B)^2}{4} \right| |c_1|^2 \tag{35}$$

$$= \frac{(A - B)}{6} + \left( \left| \frac{(A - B)(A - 2B)}{6} - \mu \frac{(A - B)^2}{4} \right| - \frac{(A - B)}{6} \right) |c_1|^2 \tag{36}$$

**Case I:**  $\mu \leq \frac{2(A - 2B)}{3(A - B)}$ , (36) can be written as

$$\begin{aligned} |a_3 - \mu a_2^2| &\leq \frac{(A - B)}{6} + \left( \left( \frac{(A - B)(A - 2B)}{6} - \mu \frac{(A - B)^2}{4} \right) - \frac{(A - B)}{6} \right) |c_1|^2 \\ &= \frac{(A - B)}{6} + \left( \frac{(A - B)(A - 2B - 1)}{6} - \mu \frac{(A - B)^2}{4} \right) |c_1|^2 \end{aligned} \tag{37}$$

**Subcase I(a):**  $\mu \leq \frac{2(A - 2B - 1)}{3(A - B)}$ , using (6),(37) becomes

$$|a_3 - \mu a_2^2| \leq \frac{(A - B)}{6} + \left( \frac{(A - B)(A - 2B - 1)}{6} - \mu \frac{(A - B)^2}{4} \right) = \frac{(A - B)(A - 2B)}{6} - \mu \frac{(A - B)^2}{4} \tag{38}$$

**Subcase I(b):**  $\mu \geq \frac{2(A - 2B - 1)}{3(A - B)}$ , We obtain from (38)

$$|a_3 - \mu a_2^2| \leq \frac{(A - B)}{6} - \left( \mu \frac{(A - B)^2}{4} - \frac{(A - B)(A - 2B - 1)}{6} \right) |c_1|^2 \leq \frac{(A - B)}{6} \tag{39}$$

**Case II:**  $\mu \geq \frac{2(A - 2B)}{3(A - B)}$  preceding as in case I, we get

$$\begin{aligned}
 |a_3 - \mu a_2^2| &\leq \frac{(A-B)}{6} + \left| \left( \frac{(A-B)^2}{4} \mu - \frac{(A-B)(A-2B)}{6} \right) - \frac{(A-B)}{6} \right| |c_1|^2 \\
 &\leq \frac{(A-B)}{6} + \left| \frac{(A-B)^2}{4} \mu - \frac{(A-B)(A-2B+1)}{6} \right| |c_1|^2 \quad (40)
 \end{aligned}$$

Subcase II(a) :  $\mu \leq \frac{2(A-2B+1)}{3(A-B)}$ , (40) takes the form

$$|a_3 - \mu a_2^2| \leq \frac{(A-B)}{6} \quad (41)$$

combining I(b) and subcase II(a), we obtain

$$|a_3 - \mu a_2^2| \leq \frac{(A-B)}{6}; \text{ if } \frac{2(A-2B-1)}{3(A-B)} \leq \mu \leq \frac{2(A-2B+1)}{3(A-B)} \quad (42)$$

Subcase II(b) :  $\mu \geq \frac{2(A-2B+1)}{3(A-B)}$ , preceeding as in case subcase I(a), we get

$$|a_3 - \mu a_2^2| \leq \frac{(A-B)^2}{4} \mu - \frac{(A-B)(A-2B)}{6} \quad (43)$$

combining (38), (42) and (43), the theorem is proved.

Corollary 3.4 : put  $\{A = 1, B = -1\}$ , we get

$$|a_3 - \mu a_2^2| \leq \begin{cases} 1 - \mu; \text{ if } \mu \leq \frac{2}{3} \\ \frac{1}{3}; \text{ if } \frac{2}{3} \leq \mu \leq \frac{4}{3} \\ \mu - 1; \text{ if } \mu \geq \frac{4}{3} \end{cases}$$

The Functional considered in this work is closely associated with the bounds on  $|a_3 - \mu a_2^2|$  known as fekete-Szego in geometry functions theory satisfying equations (3) and (4).

#### 4.0 References

- [1] Bieberbach L. *Über die Koeffizienten derjenigen Potenzreihen, welche eine schlichte abbildung des einheitskreises vermitteln* In Preuss. Akad. Wiss. Sitzungsb., 138(1916) 940 – 955
- [2] Lowner K., *Über monotone Matrixfunktionen*, Math.Z., 38(1934), 177–216.
- [3] Fekete M. Szego G. *Einebemerkung über ungrade Schlichte funktionen*, J. London Math. Soc., 8(1933), 85–89.
- [4] Goel R.M and Mehrok B.S *A subclass of Univalent functions*, Houston Journal of Mathematics. **8(1982)** 343 – 357.
- [5] Goel R.M and Mehrok B.S *On Coefficient of Subclass of Starlike functions*, HIndian Journal of pure and applied Mathematics. **12(1981)** 634 – 647.
- [6] Goodman, A.W., *Univalent Functions*, Vols I & II, Marina Pub. Co., Tampa,Florida, 1993.